OnuMmiuana no MaTeMaTUKe Ha aHTJIMMCKOM SI3bIKE
1-2 xypc

damMuIus, UM

OO6pazoBartenbHOE
YApEKICHUE

Task 1. [lepeBeauTte 1aHHOE CTUXOTBOPEHHUE C AHTJIIMICKOTO HAa PYCCKUA,
MaKCUMaJIbHO COXPAaHUB CTUIIUCTUKY aBTOPA.

Rationalists, wearing square hats,
Think, in square rooms,
Looking at the floor,
Looking at the ceiling.
They confine themselves
To right-angled triangles.
If they tried rhomboids,
cones, waving lines, ellipses--
As, for example, the ellipse of the half-moon--
Rationalists would wear sombreros.

Task 2. Pa3bsicHuTe, Kak BbI IOHHUMAaETe JaHHOE MPABUIIO.

The Pythagorean theorem: The sum of the areas of the two squares on the legs (a
and b) equals the area of the square on the hypotenuse (c).

Task 3. Pacckakute, 4TO BBI 3HaeTE 00 3TOM YUCHOM, O €r0 BKIaZe B HAyKy (HE
6omnee 250 cioB).




